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P L A N  F O R  T O D A Y

Money and time

Barriers to smoothing

Monopoly practice





M O N E Y  A N D  T I M E



What is money?
Something that stores value

Something that can be converted 
into goods and services



S T O C K S  A N D  F L O W S

Wealth Stock

Income Flow

Depreciation Flow

Consumption Flow





U N E V E N  F L O W S

What should we do with money 
when flows aren’t steady?

Consumption smoothing





U N E V E N  F L O W S

What should we do with money 
when flows aren’t steady?

Consumption smoothing

Why do we like smooth flows?



Hyperbolic discounting
We prefer immediate payoffs 

more than future payoffs



F I X I N G  U N E V E N  F L O W S

Move future consumption 
to the present
Credit; borrowing

Move present consumption 
to the future

Saving and investing; storing



B O R ROW I N G



B O R ROW I N G



S A V I N G  A N D  L E N D I N G



Do we save too little?

Do we spend too little?



B A R R I E R S  T O  
S M O O T H I N G



Principal agent problems

Institutional barriers

B A R R I E R S  T O  S M O O T H I N G



A S Y M M E T R I C  I N F O R M A T I O N

Lenders face risk of 
non-repayment

Adverse selection? Moral hazard?

Equity Collateral



W E A L T H  B E G E T S  W E A L T H

Having wealth makes it 
easy to provide equity 

and collateral



What happens if you don’t have enough 
wealth to provide equity or collateral?

Credit rationing
Credit-constrained Credit-excluded

Lack of wealth begets lack of wealth



But nope. Causal arrows are backwards









Probability of reaching top 20% income if parents are in bottom 20%





M O N O P O LY  
P R A C T I C E



Monopolies will underproduce 
and overcharge

Firms should set MR to MC 
to maximize profit (π)

Under perfect competition, 
MR is the preexisting price

Market power lets firms 
use their own MR curve





Demand

T H I N G S  Y O U  N E E D  T O  F I N D

Total revenue (TR)

Marginal revenue (MR)

P = −0.25Q + 50

TR = PQ TR = (−0.25Q + 50)Q

TR = −0.25Q2 + 50Q

TR = −0.5Q + 50

Total cost (TC) P = 0.1Q2 + 3Q + 10

Marginal cost (MC) MC = 0.2Q + 3



S P E C I A L  P O I N T S

Maximum π MR = MC

Social Q and P MC = Demand

Max π for monopolist Q from max π; 
P from demand

Maximum revenue MR = 0



E L A S T I C I T Y
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Coefficient for P if demand 
curve is written as Q = aP + b



Social Q and P

Max π Q and P

Max revenue Q and P

ϵ at P = 20 ϵ at P = 5

Producer/consumer surplus & DWL

.2K�M/ : P = �2Q+ 60

hQi�H +Qbi : P = 0.25Q2 + 10Q+ 100
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.2K�M/ : P = �1

3
Q+ 25

hQi�H +Qbi : P = 0.1Q2 + 3Q+ 50
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Social Q and P

Max π Q and P

Max revenue Q and P

ϵ at P = 20 ϵ at P = 5

Producer/consumer surplus & DWL


